---------------------------

Envis3.Face

---------------------------

DB-filtr:((PlanRealizace.id in (select p.id from planrealizace p 

join cinnostsop c on (p.cinnostsopidsop = c.idsop)

join obsluznacinnost o on (c.obsluznacinnostid = o.id)

join skupinacinnosti s on (o.skupinacinnostiid = s.id)

where s.klientid = 1

) ) AND ((PlanRealizace.DatumPlanu >= convert(datetime,'20060412',112) and PlanRealizace.DatumPlanu < convert(datetime,'20100701',112) and not(PlanRealizace.DatumPlanu is null) and (PlanRealizace.DatumProvedeni is null))) AND ((PlanRealizace.id in (select p.id from planrealizace p

join cinnostsop c on (p.cinnostsopidsop = c.idsop)

join obsluznacinnost o on (c.obsluznacinnostid = o.id)

where (cast(o.id as varchar(50)) like '2196' or o.id in (0,2196)) 

      and (cast(o.skupinacinnostiid as varchar(50)) like '14')

)) AND ((

exists(

select * from cinnostsop

join pasportobjektu on (cinnostsop.idpo = pasportobjektu.idpo)

join kompetenceobjektu on (pasportobjektu.objektid = kompetenceobjektu.objektid)

where kompetenceobjektu.funkcnimistoid = 11 and cinnostsop.idsop = planrealizace.cinnostsopidsop

) or 

exists(

select * from cinnostsop

join kompetenceobjektu on (cinnostsop.objektid = kompetenceobjektu.objektid)

where kompetenceobjektu.funkcnimistoid = 11 and cinnostsop.idsop = planrealizace.cinnostsopidsop

) or 

exists(

select * from cinnostsop

join objektsekce on (cinnostsop.sekceid = objektsekce.sekceid)

join kompetenceobjektu on (objektsekce.objektid = kompetenceobjektu.objektid)

where kompetenceobjektu.funkcnimistoid = 11 and cinnostsop.idsop = planrealizace.cinnostsopidsop

)

))))

DB-filtr-fixed: (none)

DB-sort:DatumPlanu,DatumProvedeni,DatumNapravy

Mem-filtr:

Mem-sort:

---------------------------

OK   

---------------------------
